

Research Report

KSTS/RR-91/007
October 24, 1991

The Uniqueness of Star-Products on $P_n(\mathbb{C})$.

by

Hideki Omori, Yosiaki Maeda and Akira Yoshioka

Yosiaki Maeda

Department of Mathematics
Faculty of Science and Technology
Keio University

Hideki Omori and Akira Yoshioka

Department of Mathematics
Faculty of Science and Technology
Science University of Tokyo

Department of Mathematics
Faculty of Science and Technology
Keio University

© 1991 KSTS
Hiyoshi 3-14-1, Kohoku-ku, Yokohama, 223 Japan

THE UNIQUENESS OF STAR-PRODUCTS ON $P_n(\mathbb{C})$

HIDEKI OMORI*), YOSIAKI MAEDA**), AKIRA YOSHIOKA*)

*) Dept. of Math., Fac. of Science and Technology,
Science Univ. of Tokyo, Noda, Chiba 278, Japan

**) Dept. of Math., Fac. of Science and Technology,
Keio Univ., Hiyoshi, Yokohama 223, Japan

INTRODUCTION

It is fairly known that the classical mechanics is written by using functions on a phase manifold, and the quantum mechanics is written by using “operators” obtained through the correspondence principle from functions on the phase manifold. Here, “operators” are sometimes not genuine operators, densely defined on a Hilbert space, but a symbolic non-commutative objects corresponding to functions on the phase manifold.

Considering this vague character of the quantization procedure, Bayen et al. [B] proposed the idea, called *deformation quantization*, that quantization is not to make operators, but to deform the algebra of functions to a non-commutative, associative algebra. The advantage of this idea is to make us possible to consider the quantization purely algebraic without the representation theory.

First, let us recall the notion of deformation quantization briefly. Let (M, ω) be a C^∞ symplectic manifold and $C^\infty(M)$ the set of the smooth functions on M , which is denoted by \mathfrak{a} simply. Consider the direct product

$$\mathfrak{a}[[\nu]] = \sum_{k \geq 0} \nu^k \mathfrak{a}.$$

An associative product $*$ defined on $\mathfrak{a}[[\nu]]$ is called a *deformation quantization* of \mathfrak{a} , or simply a $*$ -product, if the following conditions are satisfied: For $f, g \in \mathfrak{a}$

$$(A.1) \quad (\nu^k f) * 1 = 1 * (\nu^k f) = \nu^k f, \quad (\nu^k f) * (\nu^m g) = \nu^{k+m} f * g.$$

$$(A.2) \quad \text{Let } \sum_{k \geq 0} \nu^k \pi_k(f, g), \quad \pi_k(f, g) \in \mathfrak{a}, \text{ be the decomposition of } f * g.$$

Then, $\pi_0(f, g) = fg$, the usual product, and $\pi_1(f, g) = -\{f, g\}/2$, where $\{, \}$ is the Poisson bracket on M .

We have already known in [DL], [OMY1] that there exists a $*$ -product on any symplectic manifold. Thus, in this note, we shall concern how many $*$ -products exist on a symplectic manifold. To consider this, we will call two algebras $(\mathfrak{a}[[\nu]], *)$ and $(\mathfrak{a}[[\nu]], *')$ *isomorphic*, if there is a linear isomorphism $\Phi: (\mathfrak{a}[[\nu]], *) \rightarrow (\mathfrak{a}[[\nu]], *')$ such that $\Phi(f * g) = \Phi(f) * \Phi(g)$. Note that $\Phi(\nu) = \nu$ is not requested.

Typeset by $\mathcal{A}\mathcal{M}\mathcal{S}\text{-}\mathcal{T}\mathcal{E}\mathcal{X}$

For instance, let $P_n(\mathbb{C})$ be the complex projective n -space with the standard Kähler form. There are two different ways of making $*$ -products on $P_n(\mathbb{C})$. The first one is intrinsic, initiated by Berezin [Be], who discussed on the 2-sphere, extended to $P_n(\mathbb{C})$ by Moreno [M], and to bounded domains or compact Kähler manifolds by Cahen, Gutt and Rawnsley [CGR]. Here the $*$ -product is obtained at first by making operators corresponding to real analytic functions on $P_n(\mathbb{C})$, and the asymptotic symbol calculus similar to [K] gives the $*$ -product on $C^\omega(P_n(\mathbb{C}))$. This can be extended easily on $C^\infty(P_n(\mathbb{C}))$. The second one was given in [OMY3] which is obtained by the reduction of the natural $*$ -product on \mathbb{C}^{n+1} via \mathbb{C}^* -action. Considering the natural projection $\mathbb{C}^{n+1} - \{0\}$ onto $P_n(\mathbb{C})$, one may regard $C^\infty(P_n(\mathbb{C}))$ as a subalgebra of $C^\infty(\mathbb{C}^{n+1} - \{0\})$ consisting of all f such that $f(z) = f(re^{i\theta})$ for any $re^{i\theta}$, $r > 0$. Thus, let

$$\mathcal{A} = \{f \in C^\infty(\mathbb{C}^{n+1} - \{0\})[[\nu]] : f(z; \nu) = f(re^{i\theta}z; r^2\nu) \text{ for any } re^{i\theta}, r > 0\}.$$

Then, \mathcal{A} is a $*$ -subalgebra of $C^\infty(\mathbb{C}^{n+1} - \{0\})[[\nu]]$. The center of \mathcal{A} is $\mathbb{C}[[\frac{\nu}{R}]]$, the formal power series of $\frac{\nu}{R}$ and $R = (1/2)\sum_{1 \leq i \leq n+1} |z|^2$. Regarding $\nu' = \frac{\nu}{R}$ as a deformation parameter, we showed in [OMY3] that \mathcal{A} can be regarded as $C^\infty(P_n(\mathbb{C}))$, and hence \mathcal{A} gives a $*$ -product on $P_n(\mathbb{C})$.

The following is our main result:

Theorem. *Any $*$ -products on $P_n(\mathbb{C})$ are mutually isomorphic.*

The above theorem will be proved purely algebraically by using the facts that $\dim H^2(P_n(\mathbb{C})) = 1$, and the symplectic 2-form is not exact.

1. ALGEBRAIC PRELIMINARIES

We recall several algebraic tools which have been developed in [OMY4]. Let M be a C^∞ paracompact manifold, and let $C^p(\mathfrak{a})$ be the vector space of the p -linear mappings of $\mathfrak{a} \times \cdots \times \mathfrak{a}$ (p -times) into \mathfrak{a} . By $SC^p(\mathfrak{a})$, (resp. $AC^p(\mathfrak{a})$), we denote the subspace of $C^p(\mathfrak{a})$ consisting of the symmetric (resp. alternative) p -linear mappings.

For any $\pi \in C^2(\mathfrak{a})$, we define the *Hochschild coboundary operator* $\delta_\pi : C^p(\mathfrak{a}) \rightarrow C^{p+1}(\mathfrak{a})$ as follows:

$$\begin{aligned} (\delta_\pi F)(v_1, \dots, v_{p+1}) &= \pi(v_1, F(v_2, \dots, v_{p+1})) \\ &\quad + \sum_{1 \leq i \leq p} (-1)^i F(v_1, \dots, \pi(v_i, v_{i+1}), \dots, v_{p+1}) \\ &\quad + (-1)^{p+1} \pi(F(v_1, \dots, v_p), v_{p+1}). \end{aligned}$$

For any $\pi, \pi', \pi'' \in C^2(\mathfrak{a})$, we see that

$$(1) \quad \delta_\pi \pi' = \delta_{\pi'} \pi, \quad \sum_{\text{cyclic}} \delta_\pi \delta_{\pi'} \pi'' = 0,$$

where \sum_{cyclic} means the cyclic sum with respect to π, π', π'' . We shall denote δ_{π_0} by δ_0 . The following is known in [OMY4]:

Lemma 1.1. (a) $\delta_\pi^2 = 0$ is equivalent to $\delta_\pi \pi = 0$.

(b) $\delta_\pi \pi = 0$ if and only if (\mathfrak{a}, π) is an associative algebra.

(c) For $\pi \in C^2(\mathfrak{a})$, $\delta_0 \pi = 0$ if and only if $\delta_0 \pi^+ = 0$ and $\delta_0 \pi^- = 0$, where $\pi^\pm(f, g) = (\pi(f, g) \pm \pi(g, f))/2$.

(d) For $\pi \in AC^2(\mathfrak{a})$, $\delta_0 \pi = 0$, if and only if π is a biderivation, i.e. $\pi(fg, h) = f\pi(g, h) + \pi(f, h)g$.

(e) Suppose $\theta \in C^2(\mathfrak{a})$ is a bidifferential operator of order k , and $\theta(1, *) = \theta(*, 1) = 0$. If θ is a Hochschild cocycle with respect to δ_0 , then θ is a Hochschild coboundary, i.e. $\theta = \delta_0 \xi$, and ξ can be chosen as a linear differential operator of order k .

On the other hand, for any $\pi \in AC^2(\mathfrak{a})$, we define the *Chevalley coboundary operator* $d_\pi: C^2(\mathfrak{a}) \rightarrow AC^{p+1}(\mathfrak{a})$ as follows:

$$(d_\pi F)(v_1, \dots, v_{p+1}) = \sum_{1 \leq i \leq p+1} (-1)^{i+1} \pi(v_i, F(v_1, \dots, \overset{\vee}{v}_i, \dots, v_{p+1})) \\ + \sum_{i < j} (-1)^{i+j} F(\pi(v_i, v_j), v_1, \dots, \overset{\vee}{v}_i, \dots, \overset{\vee}{v}_j, \dots, v_{p+1}).$$

For any $\pi, \pi', \pi'' \in AC^2(\mathfrak{a})$, we see that

$$(2) \quad d_\pi \pi' = d_{\pi'} \pi, \quad \sum_{\text{cyclic}} d_\pi d_{\pi'} \pi'' = 0.$$

Lemma 1.2. (cf. [OMY4]) (a) $d_\pi^2 = 0$ is equivalent to $d_\pi \pi = 0$

(b) $d_\pi \pi = 0$ if and only if (\mathfrak{a}, π) is a Lie algebra.

$F \in C^p(\mathfrak{a})$ will be called a *p-derivation* if $F(v_1, \dots, v_p)$ satisfies the derivation rule for each v_i , that is

$$F(v_1, \dots, v_i w, \dots, v_p) = v_i F(v_1, \dots, w, \dots, v_p) + F(v_1, \dots, v_i, \dots, v_p) w.$$

By $\text{Der}^p(\mathfrak{a})$, we denote the space of all *p-derivations*. Obviously, *p-derivation* is nothing but a $(p, 0)$ -tensor field on M . We set

$$\mathfrak{A}^p(M) = \text{Der}^p(\mathfrak{a}) \cap AC^p(\mathfrak{a}).$$

$\mathfrak{A}^p(M)$ is the dual space of *p-forms*. Note also that any Poisson bracket $\{, \}$ is an element of $\mathfrak{A}^2(M)$. If $\pi \in \mathfrak{A}^2(M)$, then it is easy to see that

$$d_\pi \mathfrak{A}^p(M) \subset d_\pi \mathfrak{A}^{p+1}(M).$$

Hence, one can define on any Poisson manifold, the cohomology group $H^p(M, \{, \})$ of the cochain complex $(\mathfrak{A}^p(M), d_1)$, where $d_1 = d_{\pi_1}$, and $\pi_1(f, g) = -\{f, g\}/2$.

Lemma 1.3. *Let (M, ω) be a symplectic manifold and $\{, \}$ its Poisson bracket. Then $H^p(M, \{, \})$ is isomorphic to p -th de Rham cohomology group.*

Thus, we will call $H^p(M, \{, \})$ the p -th de Rham-Chevalley cohomology group.

Now, let $(\mathfrak{a}[[\nu]], *)$ be any associative algebra such that

- (B.1) $(\nu^k f) * 1 = 1 * (\nu^k f) = \nu^k f$, $(\nu^k f) * (\nu^m g) = \nu^{k+m} f * g$.
 (B.2) Let $\sum_{k \geq 0} \nu^k \pi_k(f, g)$, $f, g, \pi_k(f, g) \in \mathfrak{a}$, be the expression of $f * g$. Then, $\pi_0(f, g) = fg$, the usual product, and π_k is a bidifferential operator of order $2k$.

Remark. In §1 and §2 the condition $\pi_1 = (-1/2)\{, \}$ is not assumed.

Since $(\mathfrak{a}[[\nu]], *)$ is associative, we have for each m ,

$$(3) \quad \sum_{i+j=m} \delta_i \pi_j = 0, \quad \text{where } \delta_i = \delta_{\pi_i}.$$

$$(4) \quad \sum_{i+j=m} \delta_i \delta_j = 0.$$

Now, let $\pi_i^\pm(f, g) = (\pi_i(f, g) \pm \pi_i(g, f))/2$. By the Jacobi identity, we have also the following for each integer $m \geq 0$:

$$(5) \quad \sum_{i+j=m} d_i^- \pi_j^- = 0, \quad \text{where } d_i^- = d_{\pi_i^-}.$$

$$(6) \quad \sum_{i+j=m} d_i^- d_j^- = 0.$$

Note also that $\pi_0^- = 0$.

In what follows, we shall often use linear isomorphisms

$$\phi: \mathfrak{a}[[\nu]] \rightarrow \mathfrak{a}[[\nu]] \quad \text{such that} \quad \phi(f) = f + \nu^k \rho(f), \quad k \geq 1,$$

where ρ is a linear differential operator such that $\rho(\nu) = \nu$, and consider a new $*$ -product given by $\phi^{-1}(\phi(f) * \phi(g))$. Since ϕ can be regarded as a change of the decomposition $\mathfrak{a}[[\nu]] = \sum_{k \geq 0} \nu^k \mathfrak{a}$, the new $*$ -product gives a new expression of the same $*$ -product by a new decomposition. For $k \geq 2$, then $f * g$ in the new expression is written as follows:

$$(7) \quad \begin{aligned} f * g = & fg + \nu \pi_1(f, g) + \cdots + \nu^{k-1} \pi_{k-1}(f, g) \\ & + \nu^k (\pi_k + \delta_0 \rho)(f, g) + \nu^{k+1} (\pi_{k+1} + d_1 \rho)(f, g) + \cdots \end{aligned}$$

We use also the replacement of ν by $\nu(1 + a\nu^k)$, $a \in \mathbb{C}$. Since these are in the center, this replacement gives an isomorphism of $\mathfrak{a}[[\nu]]$.

2. SKEW-SYMMETRIC PARTS OF π_1, π_{even} AND SYMMETRIC PARTS OF π_{odd}

Let $(\mathfrak{a}[[\nu]], *)$ be an associative algebra with (B.1), (B.2) in §1. By (1) and (3), we have $\delta_0 \pi_1 = 0$, and hence $\delta_0 \pi_1^\pm = 0$ by Lemma 1.1, (c). Therefore, by Lemma 1.1, (e), there is a differential operator ξ of order 2 such that $\delta_0 \xi = \pi_1^+$. Now, consider the linear isomorphism

$$\phi(f) = f - \nu \xi(f), \quad \phi(\nu) = \nu,$$

and the new expression of $f * g$ is as follows:

$$f * g = fg + \nu \pi_1^-(f, g) + \cdots + \nu^k \pi_k(f, g) + \cdots$$

where π_j , for $j \geq 2$ are changed from the original ones.

Next, we shall consider π_2 . In this stage one may assume that $\pi_1^- = \pi_1$. By (1) and (3), we have that

$$(8) \quad \delta_0 \pi_2 = -\frac{1}{2} \delta_1 \pi_1.$$

By a little complicated calculation, (8) is equivalent to the following:

$$(9) \quad (1 - \mathfrak{c}) \partial_2^0 \pi_2^+ = \frac{1}{2} \delta_1 \pi_1, \quad \partial_2^0 \pi_2^- = 0,$$

where \mathfrak{c} is the cyclic operator defined by $(\mathfrak{c}F)(f, g, h) = F(h, f, g)$, and

$$(\partial_2^0 F)(f, g, h) = gF(f, h) - F(f, gh) + F(f, g)h.$$

The second equality of (9) implies also that π_2^- is an element of $\mathfrak{A}^2(M)$ and hence $\delta_0 \pi_2^- = 0$. Moreover, by (2) and (5), we have $d_1 \pi_2^- = 0$. Thus, π_2^- determines a cohomology class $[\pi_2^-]$ of $H^2(M, \{, \})$.

In the case that $\dim H^2(M, \{, \}) = 1$ and $[\pi_1] \neq 0$ such as $P_n(\mathbb{C})$, there is $a \in \mathbb{C}$, and $\eta \in \mathfrak{A}^1(M)$ such that $\pi_2^- = a\pi_1 + d_1 \eta$. Consider also the linear isomorphism

$$\phi(f) = f - \nu \eta(f), \quad \phi(\nu) = \nu.$$

Since $\delta_0 \eta = 0$, we have, by using (7), that the new expression of $f * g$ is as follows:

$$f * g = fg + \nu \pi_1(f, g) + \nu^2 (\pi_2^+ + a\pi_1)(f, g) + \cdots$$

Consider now the replacement of ν by $\nu(1 - a\nu)$. This replacement gives an isomorphism of $\mathfrak{a}[[\nu]]$ onto itself, and the new expression of $f * g$ is

$$f * g = fg + \nu \pi_1(f, g) + \nu^2 \pi_2^+(f, g) + \cdots,$$

where π_j , for $j \geq 3$ are changed from the original ones.

Now, we prove the following:

Theorem 2.1. *If $\dim H^2(M) = 1$, and $[\pi_1] \neq 0$, then by a suitable isomorphism $\phi: \mathfrak{a}[[\nu]] \rightarrow \mathfrak{a}[[\nu]]$, the expression of $f * g$ satisfies $\pi_{odd}^+ = 0$, $\pi_{even}^- = 0$.*

Proof. Suppose $\pi_{2k-1}^+ = \pi_{2k}^- = 0$ for $2k-1, 2k \leq 2r$. For $m = 2r+1$, we have

$$(10) \quad \sum_{i+j=m} \delta_i \pi_j = 0, \quad \text{where} \quad \delta_i = \delta_{\pi_i}.$$

By a little complicated calculation (cf. [OMY4]), the above equality yields the following:

$$(11) \quad \begin{aligned} \delta_0 \pi_m^+ &= 0, \\ \partial_2^0 \pi_m^- &= \frac{1}{8}(1 - \epsilon + \epsilon^2)(1 + \sigma) \sum_{i+j=m, i,j \geq 1} \delta_i \pi_j \end{aligned}$$

where $(\sigma F)(f, g, h) = F(h, g, f)$.

By Lemma 1.1.(e), there is a differential operator ξ of order $2m$ such that $\delta_0 \xi = \pi_m^+$. Now, consider the linear isomorphism

$$\phi(f) = f - \nu^m \xi(f), \quad \phi(\nu) = \nu,$$

and the new expression of $f * g$ is as follows:

$$f * g = fg + \nu \pi_1(f, g) + \cdots + \nu^{m-1} \pi_{m-1}(f, g) + \nu^m \pi_m^-(f, g) + \cdots.$$

Thus, one may assume in what follows that $\pi_{2r+1} = \pi_{2r+1}^-$.

Next, we shall consider π_m for $m = 2r+2$. By a little complicated calculation (cf. [OMY4]), we have

$$(12) \quad \begin{aligned} (1 - \epsilon) \partial_2^0 \pi_m^+ &= \frac{1}{2} \sum_{i+j=m, i,j \geq 1} \delta_i \pi_j, \\ \partial_2^0 \pi_m^- &= 0. \end{aligned}$$

The second equality of (12) implies also that π_m^- is an element of $\mathfrak{A}^2(M)$ and hence $\delta_0 \pi_m^- = 0$. Moreover, by (2) and (5), we have $d_1 \pi_m^- = 0$, because $m+1$ is odd. Thus, π_m^- determines a cohomology class of $H^2(M)$. So, by the same procedure as in the case of π_2 , one can eliminate the skew-symmetric part of π_m in the expression. The condition $\dim H^2(M) = 1$ is used at this stage. Repeating these procedures, we obtain the result. \square

3. THE PROOF OF THEOREM

Let $C^\infty(P_n(\mathbb{C}))$ denote \mathfrak{a} . Now, suppose we have two associative algebras $(\mathfrak{a}[[\nu]], *)$, $(\mathfrak{a}[[\nu]], *')$ satisfying (A.1) and (A.2). Moreover, by the above theorem, one may assume that $\pi_{odd}^+ = 0$, $\pi_{even}^- = 0$ and $\pi_{odd}'^+ = 0$, $\pi_{even}'^- = 0$.

Suppose $\pi_j = \pi'_j$ for $j, 0 \leq j \leq m-1$. Then $\delta_0(\pi_m - \pi'_m) = 0$ by (3). If m is even, then by Lemma 1.1.(e), there is a differential operator ξ of order $2m$ such that $\delta_0\xi = \pi_m - \pi'_m$. Now, consider the linear isomorphism

$$\phi(f) = f - \nu^m \xi(f), \quad \phi(\nu) = \nu.$$

Then, one can assume $\pi_m = \pi'_m$ in the new expression.

If m is odd, we have by (5) that $d_1(\pi_m - \pi'_m) = 0$. Since $\dim H^2(M) = 1$, there is $a \in \mathbb{C}$, and $\eta \in \mathfrak{A}^1(M)$ such that $\pi_m - \pi'_m = a\pi_1 + d_1\eta$.

Consider the linear isomorphism

$$\phi(f) = f - \nu^m \eta(f), \quad \phi(\nu) = \nu.$$

Since $\delta_0\eta = 0$, we may assume, by using (7), that $\pi_m - \pi'_m = a\pi_1$. Thus, the replacement of ν by $\nu(1 + a\nu^{m-1})$ gives an isomorphism of $\mathfrak{a}[[\nu]]$ onto itself, and yields $\pi_m = \pi'_m$. Repeating these we have the desired isomorphism.

Remark. If $H^2(M) = 0$, then we obtain the same conclusion without using the replacement of ν . The result has been known as the theorem of Lichnerowicz. Also, Gutt [G] discussed the case $\dim H^2(M) = 1$, and $[\pi_1] = 0$. One can show this case can really happen on a cotangent bundle.

REFERENCES

- [B] F. Bayen, M. Flato, C. Fronsdal, A. Lichnerowicz, D. Sternheimer, *Deformation theory and quantization I*, Annals of Physics **111** (1978), 61-110.
- [Be] F. A. Berezin, *Quantization*, Math. USSR. Izvestija **8** (1974), 1109-1165.
- [CGR] M. Cahen, S. Gutt, R. Rawnsley, *Quantization of Kähler manifolds, I, II*, to appear.
- [DL] M. DeWilde, P. B. Lecomte, *Existence of *-product and formal deformation of the Poisson Lie algebra of arbitrary symplectic manifolds*, Letters in Math. Phys. **7** (1985), 487-496.
- [G] S. Gutt, *Equivalence of deformations and associated *-products*, Letters in Math. Phys. **3** (1979), 297-309.
- [K] B. Kostant, *Quantization and Unitary representation*, Lecture Notes in Math. **170** (1970), 87-208.
- [M] C. Moreno, **-products on some Kähler manifolds*, Letters in Math. Phys. **11** (1986), 361-372.
- [OMY1] H. Omori, Y. Maeda, A. Yoshioka, *Weyl manifolds and deformation quantization*, Advances in Math. **85** (1991), 224-255.
- [OMY2] H. Omori, Y. Maeda, A. Yoshioka, *Global calculus on Weyl manifolds*, Japanese J. Math. **17** (1991), 57-82.
- [OMY3] H. Omori, Y. Maeda, A. Yoshioka, *Non-commutative complex projective space*, to appear in Advance in Math. (1991), Kinokuniya Press.
- [OMY4] H. Omori, Y. Maeda, A. Yoshioka, *Deformation quantization of Poisson algebras* (to appear).